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He should pay five oxen in its stead — °nnn abws apa wnan

OVERVIEW

The X3 is discussing the meaning of the duplicity of 721 Mw. One suggestion is
that the 770 could have written 1NN XY Y2IXY PAAN 29w P2 nwnn, instead of
writing w3 nnn XY VAR MW DAn 2w P2 awan. Our nooin explains how we
would then know which payment is for which animal.
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And we would have known logically that the payment of five 9p2 apply to the
ox (who is a 7p2), and the payment of four XX apply to the sheep (who are 1x).

SUMMARY
Logic dictates that for selling a 7w one pays for a 72, not for a 7w; and vice versa.

THINKING IT OVER

Can we say that when n1BOIn writes RXIv7> M7 X120M1 he is referring to the X723
later’, which states; IR VW MW 7IRPD DW AD 21T 7RI IR KD RD 27 0K
N2 7120 2173 R0 AR K2 OXOT 12 7371 120 MR VIR INORDAN 19002 ROW W awnn
V2R 190D KV 122377 W Wnn PR 70w w?

% The W is from the qpa family, and the 7w is from the X% family; if the 7790 would write nnn ow> Apa awnn, it
obviously refers to the 11w who is a member of the 72 family (but not to the 7w who is a member of the XX family),
and the same is true for 1NN XY ¥27X1. It would not make any sense that for 77°2m1 72w of a 9p2 (or W) he should
pay five (four) XX (or 7p2).
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